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\/Three bells ring once every 12 minutes, 20 minutes and 36 minutes
respectlvely If all of them ring together at §_§_(_)j_g1 then at what time will they
all ring together for the next time on the same day morning. 3 4.c.m.
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2. HAA: 6 Udhes, 12 Adhes, 15 Udhes T 20 hosh!
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Four bells ring simultaneously at starting and an interval of 6 sec, 12 sec, 15
sec and 20 sec respectively. How many times they ring together in 2 hours?
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If a thirteen - digit number 507x13219256y is divisible by 72 then
the maximum value of +/5x + 3y will be:
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4. 25% AT$ 26 o AT AN+, aﬁ?mﬂg—w

2525 s divided by 26, the remainder is

(A) 1 T . R#)E “rgw davisle 67 aHh UZB/ n: 00[0'5
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5. If& m I n FHRIHF JUITSHEE gol A,
5"+6ma$rum=€ammmﬁ¥ml

~ If m and n are positive integers, then the digit in the
unit's place of 5" + 6™ is always

(C)6

(B) 5
(D)n+m
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6. 1234 .. 10 = 55 feuAr, gug™& 6 12 18

24 ... 60 TR Ffd oo
*Giventhat1+2+3+4+....+10 =55, then the sum6 +

12+18 +24 +.... + 60 is equal to
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7. HIFTAT 6-35Fh HEAT TAT MBI, ST 349 o
3FF'$FH”€_3” - L

Find the least 6-digit number which is exactly divisible
by 349. 296 s
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8. IfE <5 TEITH ANTho 14 T fadlgha fAeadr 10
T ¥4, A g§ AEAEHD! AUTAh T oN3Te 4|
If the sum of two numbers is 14 and their difference is

10, find the product of these two numbers.

TNRE:! il oz b

JL) 24 WY Cy czd

B) 20
zn)) 22 e Tare s bid

aomb—

m%.{.n-% o \Yilp:
’0 Q~\/\‘Z U'l‘

~ (v -
2N ,.‘);.l’
Z

©® 84 369 00 456 | 84 365 86 516

wWww.



9. 1 af& 100 FFH®T W yrHfaw FEAEEHR! Aerhe
Hfa g1?
What is the sum of all natural numbers from 1 to 100?
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10. mzoﬁwmmmsmo

What is the sum of the flrst 20° odd natural numbers?

%DO \‘.})S)})"' < SUMD} ‘SI‘ QOM WU"Z

(-\/W

%

ny

@@ 84 369 00 456 I 84 365 86 516

@ www.thedhronas.com © The Dhronas @ TheDhronas



11. gfgel 30 TH UIplash ACAEEH! IETH Hfd &l

The sum of the first 30 even natural numbers is
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12. (6757 + 67) @S 68 o T &l F Tl Feo?
What will be remainder when (67%7 + 67) is
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13. 88 of &1 W I Wihad WedHwaT el 4 3HFahl

HEAT §:
The largest 4 digit number exactly divisible by 88 Is:
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14. 1056maﬁ#|ma»—«rawa1mi§ GLED
mzsaqﬁmmwﬁm’?

What least number must be added to 1056, so that the sum is
completely divisible by 23 ? e
)2 . ‘DSB g, 23)93 -I»Z) .

(B) 3

(C) 18
(D) 21
(E) A 7eA Fot ufer S
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15. del HEA Fel HEATATS 15 & AT T Afhea?

Which one of the following numbers is divisible by 15?
MNAY 17325 . v /

(B) 23755 : 22y

(C) 29515 2> *

(D) 30560 . w v
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(A) 4823718 \m/) 43:3211 8(C) 8423718 (D) 8432718
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Al AFaY 12 HT gaAl dFaT & §o?
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18.

g%hfr SI3FThT HE&AT 100 aﬁr m &7
290 HT| I¥ RTSITEAT Hieqer STEAT qUT B2
(A) 55
(B) 45
(C) 75

(D) 65
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19. HH=ET A TE&AT 5000 3eer O FTHS 567 o
1T 9F Afheo e

the least number more than 5000 which is divisible by
567 B

%' Str
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20. (45 + 452 + 453 + 45) T@RT IS &
(451 + 452 + 453 + 459) s divisible by

(A)3)(BY11 (C) 13 (D) 17 rxsrac
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21, (3%5 + 326 + 377 + 32%) ART AT &
(325 + 326 + 327 + 328) js divisible by
(A) 11 (B) 16 (C) 25 (D) 30
4 VYiev
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22. (12+22+3%2+.......+20%)=2870, (22+4%2+6%+

¥
Lieweee +402) Y AT T
Given that (12+22+ 3%+ + 202)= 2870, the value of (22 + 42 + 62

-
(=3

(A)2870 N\
(B) 5740

(C) 11480

(D) 28700
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7 e Malbi Ui iadion of unit digif-
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